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i) Attemptany five questions.
for<f ata wei Y g HIY
i) All questions carry equal marks.
wft weAl & FH 3w gl
iii) Abbreviations have usua.l meanings.
HaT & GRS &
iv) Mention the assumed data clearly.
I ST BT TE T9 J Tgd @
v) In case of any doubt or dispute the English version
question should be treated as final.
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What are various types of footing? Mention the basic
criteria for satisfactory performance of a foundation. 7

GfEn & R JeR F1 §7 BREST b Harvere uad

& forg et TGSt BT g BN
b) Define following terms- 7
Net pressure, Ultimate bearing capacity, Net ultimate
bearing capacity, Net safe bearing capacity and Allowable
bearing pressure.
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Explain the concept of general shear failure. 2
TR STURFAUT fThetell &t STaUIReT Pl THEIST

A 12 m long, 300 mm dia concrete pile is driven in a
uniform deposit of dense sand. Water table is at great depth
and is not likely to rise. The avg dry unit wt. of sand is
18 kKN/m3. Use Ng= 137, calculate the safe load capacity
of a single pile wuh a FOS of 2.5, 8 = 25°. 7

te 12 Hiex i1, 300 At < & 31 o ¥ 916 b W
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18 KN/m? &1 N, = 137 T S5l &%, 2.5 & FOS, g=25°
& QT Tephel X Y YR HR &1 &Y AUAT |

For 450 mm side square section concrete pile 15 m long
is driven in a deep deposit of uniform clay. The laboratory
unconfined compression test on undisturbed sample
indicates an avg valuc of UCS (Q,) = 75 kN/m2. Calculate
the ultimate load capacity of pile. 7

Take 0. = 0.8, v,,= 18 KN/m3 , v,, = 10 kN/m3.

450 i A3 TaRR M F 1T 15 R T FHATF R
Y U G g} 3 TTeR ST A ST S &1 St
TR FEETE 3aRag |dte Themr UCS (Q,) = 75 kN/m?
iﬁgﬂmmaﬁsﬂam%lazﬁwmmzﬁm
I a=0.8, y,,= 18 KN/m? , y, = 10 KN/m? @il

Give the classification of pile based on function or action.
- 7
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List th'e vario‘us equipments used for field compaction.
Also differentiate between light weight and heavy weight

© proctor test. 7

8 HEF % FoIY sigert faftrr ol 1 et avrs e
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Describe the SPT method in brief, Also explain over burden
and d%?éancy c&:)érection on N value, 7
SPT 131 &7 ¥ie 5 vl Hifdg) N oy o) 3far 787 @ik
fetcd vaem @t off wwenzy "

Why anc-l in v_vhich situations soil stébilization techniques
are rcgum:d in field? Describéthe electrical stabilization
technique for improvemeiitof soil. 7

¥ yar R aefiet 6 saeadar @4t ok e
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Describe the Geosyntheties used for soil improvement
technique. 7

1 JUR T 3 HYad Y-HeauvT T quiT Hifdg)

Explain various characteristics of expansive and
collapsible soils. 7

faaren iR dvmaren S 6 Rfts RAvarsl & gazEn
Explain: 7
i) Disturbed and undisturbed sample

i) CNS layer

HHHATES

i) fageu iR afdeey T

ii} CNSTd

What are various types of lateral earth pressure? Derive
the expression for calculating earth pressure at rest. 7
mied gedt & gar & fafte SR 71 €7 RN s §
gerft g ot 70T & forg 2T YR Sl
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fig.1, construct

b) Foran earth retaining structure shown in 1
o find the toté;

earth pressure diagram for active state. Als
thrust per unit length of wall.
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Figure 1 (iR 1)

8. A retaining wall of 5 m height has to retain a stratified backfill

as shown in fig.2. Find out the magnitude of total active thrust
on the wall and locate the point of application. 14
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Sand Silt
1.85¢m3, c=1.0vm?, § =20°
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Loose Sand
y=172vm? ¢ =30

3

Dense Sand
r=1.88tm? $=238°
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Figure 2 (R 2)
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